

		2
:	. . . :	3 :

- :
- (1)..... $120 = \frac{3}{10} :$ (1)
- (2
- (1)..... $24 = 20 + 4 = \frac{3}{6} + \frac{3}{4} :$ 3 (1)
- (1)..... $36 = 6 \times 6 = \frac{2}{4} \times \frac{1}{6} :$ (
- (1)..... $4 = \frac{3}{4} :$ 3 (ж
- (1)..... $100 = \frac{3}{6} - 120 :$ (

- :
- (1)..... $(5 \ 4) = (0 \ 0)$ $\left. \begin{matrix} 13 = 0 \ 7 - 0 \ 12 \\ 11 = 0 \ - 0 \ 4 \end{matrix} \right\}$ (1
- 2)..... ж э $(5 + 12 \ 4 + 7) = () :$ (2
- (

$$7 - 12 \mid \Leftarrow \left. \begin{matrix} | \\ | \end{matrix} \right\} (1) (3$$

- (1)..... $\{13 \ 1\} \ni 13 \mid \Leftarrow$
- $$\left. \begin{matrix} [13] 4 - \equiv 7 \\ [13] 5 - \equiv 12 \end{matrix} \right\} \Leftarrow \left. \begin{matrix} [13] 0 \equiv \\ [13] 0 \equiv \end{matrix} \right\} ($$
- $[13] 5 \equiv (3) \ 12 + (5 -) \ 7 \Leftarrow$

(1.5) $[13] 5 \equiv \Leftarrow$

$\aleph \ni \alpha / 5 + \alpha 13 = \Leftarrow$

(0.5)..... $\aleph \ni \alpha / (65 + \alpha 156 \ 39 + \alpha 91) = ()$

$$0 = 22 + ^2(5 + 12) - ^2(4 + 7) \ 3 \Leftarrow 0 = 22 + ^2 - ^2 \ 3 (4$$

$$0 = 45 + 48 + ^2 \ 3 \Leftarrow$$

- (1)..... $0 = 15 + 16 + ^2 \Leftarrow$
- (0.5)..... $\{15 - 1 - \} \ni$
- (0.5)..... $\{(175 - 101 -) (7 - 3 -)\} \ni ()$

2		
:	. . . :	3 :

$$6 - 6 + (\quad + \quad)^2 + (\quad - \quad)^2 = (\quad) \quad (1)$$

$$(1) \dots\dots\dots (6 - \quad - \quad) + (6 + \quad - \quad - \quad - \quad + \quad) = (\quad)$$

$$3 = \quad \Leftrightarrow (\quad) \quad (2)$$

$$(1) \dots\dots\dots 3 = \quad : \quad (\Delta)$$

$$4 = \quad^2(1 - \quad) + \quad^2(3 - \quad) \Leftrightarrow (\quad) \quad (3)$$

$$(1) \dots\dots\dots 2 \quad (1 \quad 3) \omega \quad (\quad)$$

$$4 = \quad^2(1 + \quad) + \quad^2(3 - \quad) \left. \vphantom{4} \right\} \Leftrightarrow 0 = (\quad) \quad (4)$$

$$3 = \quad$$

$$3 = \quad \left. \vphantom{3} \right\} \Leftrightarrow$$

$$4 = \quad^2(1 - \quad) \left. \vphantom{4} \right\} \Leftrightarrow$$

$$3 = \quad \left. \vphantom{3} \right\} \quad 3 = \quad \left. \vphantom{3} \right\} \Leftrightarrow$$

$$3 = \quad \left. \vphantom{3} \right\} \quad 1 - = \quad \left. \vphantom{1} \right\} \Leftrightarrow$$

$$(2 \times 0.75) \dots\dots\dots 3 + 3 = 2 \quad - 3 = 1$$

$$(1) \dots\dots\dots \left(\frac{\pi}{4} + \frac{\pi}{4} \right) \bar{2} \bar{3} = 2 \quad (5)$$

$$\bar{3} \bar{3} / \pi = \frac{\pi}{4} \bar{3} \Leftrightarrow \bar{2}$$

$$\bar{3} / 4 = \bar{3} \Leftrightarrow$$

$$(1.5) \dots\dots\dots \bar{3}$$